
TANGENT RATIO:   tan A = 
length of leg opposite 

length of leg adjacent

7.5 Apply the Tangent Ratio
Before

Now
Why?

You used congruent or similar triangles for indirect measurement.

You will use the tangent ratio for indirect measurement.

So you can find the height of a roller coaster, as in Ex. 32.

Trigonometric Ratio:   A ratio of the length of _____________________ in a 
_____________ triangle.

A wire supports a tree.  The wire is staked into the ground 
10 feet from the tree and it forms an angle of 70o with the 
tree. 

In this lesson you will learn how to use the tangent ratio to 
determine how high up the tree the wire is attached.
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EXAMPLE 1:  Finding Tangent Ratios
Find tan S and tan R.

Guided Practice.
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Find tan J and tan K.



EXAMPLE 2: Find leg lengths.
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Find the height of the flagpole to the nearest foot.
EXAMPLE 3:  Estimate heights using the tangents.

Guided Practice. Find the value of x.  Round to the nearest tenth.
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